


• Two positions of dice are shown. What will appear on the opposite to the face 

containing 5?

पासे की दो स्थिस्ियााँ दर्ााई गई हैं। 5 वाले फलक के स्वपरीि क्या स्द ाई दगेा?

A.3

B. 1

C. 2

D.4



• Two positions of dice are shown. What will appear on the opposite to the face 

containing 3?

पासे की दो स्थिस्ियााँ दर्ााई गई हैं। 3 वाले फलक के स्वपरीि क्या स्द ाई दगेा?

A.3

B. 1

C. 2

D.4



• Two positions of dice are shown. What will appear on the opposite to the face 

containing  * ?

पासे की दो स्थिस्ियााँ दर्ााई गई हैं। वाले चेहरे के स्वपरीि क्या स्द ाई दगेा?

A. @

B. %

C. $

D. CND



• Two positions of dice are shown from A to F then find what will be on the 

opposite side of B?

• पासा की दो स्थिस्ियाां A से F िक स्द ाई गई ह ैिो ज्ञाि कीस्िए की B के स्वपरीि सिह पर क्या 

होगा? 

A. F

B. C

C. E

D. िय नहीं कर सकिे



• Two positions of the dice are shown then find out what will happen on the 

surface opposite to 'brown'?

• पासा की दो स्थिस्ियाां स्द ाई गई ह ैिो ज्ञाि कीस्िए की ‘भरूा’ के स्वपरीि सिह पर क्या होगा? 

A.नीला  

B. सफेद

C. लाल

D. हरा



• Two positions of dice are shown then find out what will be on the opposite side 

of 4?

• पासा की दो स्थिस्ियाां स्द ाई गई ह ैिो ज्ञाि कीस्िए की 4 के स्वपरीि सिह पर क्या होगा?

A.3

B. 2

C. 1

D.5



• Two positions of dice are shown then find out what will be on the opposite side 

of 6?

• पासा की दो स्थिस्ियाां स्द ाई गई ह ैिो ज्ञाि कीस्िए की  6  के स्वपरीि सिह पर क्या होगा?

A.3

B. 2

C. 1

D.5



• In each of the following questions, a cube is formed when the figure given on 

the left hand side is closed. Choose the option made up of options (1), (2), (3) 

and (4) from the picture?

• स्नम्नस्लस् ि प्रत्येक प्रश्न में, एक घन बनिा ह ैिब बाई ां ओर दी गई आकृस्ि को बांद स्कया िािा ह।ै 
स्चत्र में से स्वकल्प (1), (2), (3) और (4) से बने स्वकल्प को चनुें?

A. 1, 2 and 3 only

B. 2 and 4 only

C. 2 and 1 only 

D. 4 only
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• In each of the following questions, a cube is formed when the figure given on 

the left hand side is closed. Choose the option made up of options (1), (2), (3) 

and (4) from the picture?

• स्नम्नस्लस् ि प्रत्येक प्रश्न में, एक घन बनिा ह ैिब बाई ां ओर दी गई आकृस्ि को बांद स्कया िािा ह।ै 
स्चत्र में से स्वकल्प (1), (2), (3) और (4) से बने स्वकल्प को चनुें?

A. 1, 2 and 3 only

B. 2 and 4 only

C. 2 and 1 only 

D. 4 only
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• In each of the following questions, a cube is formed when the figure given on 

the left hand side is closed. Choose the option made up of options (1), (2), (3) 

and (4) from the picture?

• स्नम्नस्लस् ि प्रत्येक प्रश्न में, एक घन बनिा ह ैिब बाई ां ओर दी गई आकृस्ि को बांद स्कया िािा ह।ै 
स्चत्र में से स्वकल्प (1), (2), (3) और (4) से बने स्वकल्प को चनुें?

A. 1, 2 and 3 only

B. 2 and 4 only

C. 2 and 1 only 

D. 4 only
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